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Lesson 7

Transformations Review

Combined Transformations for a given point:

Ex.1 The graph of y=|x| is transformed to,
y:2h+ﬂ+7
What happens to the general point ( x,y ) ?

(x.0)=>( : )

so, what happens to the specific point ( -5,5) ?

(=5.5)>( : -0 )
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Example 2:  The graph of y=+/x undergoes the
transformation, ;, —3/x—4-2

So (x,y) becomes ( , )

So (4,2) would become ( : )

> . )

Example 3: If y=f(x) is transformed to y:—%f(x—8)+3

(x,y) becomes ( , )
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2
Your Turn: If y=+x istransformedto y= ij +3

(x,y) becomes ( ; )

So (1,1) would become ( : )

> . )

Try: If (-8,4) isonthegraphof y=-3/[2(x+6)]+7
then what point, (x,y ) ,was on the original?

: )

(x,y) became (
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Review Practice:

1. Describe the transformations of the following compared to y = f(x)
Give the coordinates of the point ( 3, —6 ) after the fransformations.

Function

Describe the transformation
clearly

Coordinates of
the point after
transformation

y=f(=x)

y=%f@)

y=/(=4

y=f(3x)

y=—f(x)

y=J(x)+5

y=/"(x)
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2. Given the function y=3f [—Z(x + 4)] —5 , describe

clearly the transformations that y = f(x) has undergone.

3. The graph of = x?  is stretched horizontally by a factor of
%, reflected in the x-axis, and moved 5 units left and 4 units

down. Write the equation of the transformed function.
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4. The graph of y = f(x) is given. On the same grid, show the graph of

y:—2f(x+3)—2

......................................................

.....................

.....................

......................................................




M301.U1.L7 Transformations Review.notebook

September 02, 2012

5. The partial graph of y = f(x) is shown below. If the graph below is
stretched horizontally about the line x =2 , by a factor of % , then

draw the new graph and state an invariant point of the graph.

......................... 1
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________ \

...............

............

............

...............

invariant point:  ( , )
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Homework

1. Review: Text Pages 56/57, Exercises # 1 - 17.

2. Practice Test:  Text Pages 58/59, Exercises # 1 - 15.




Attachments

Q  Reflections Assignment 1.doc

Q Transformations Quiz 2a.doc



Reflections Assignment1



Name:

1.  For each of the following equations, draw


a. [image: image1.wmf]()


yfx


=


 

[image: image17.wmf]







[image: image2.wmf]2


()1


fxx


=+




b.  

[image: image3.wmf]()


yfx


=-




c. State the equation of the new


function.


d.  State the domain, range, and 


any asymptotes if they exist.












[image: image4.wmf]3


()1


fxx


=-






[image: image5.wmf]()2


fxx


=+




Given  

[image: image6.wmf](),


yfx


=


  in  

[image: image7.wmf](),


yfx


=-


    

[image: image8.wmf](


)


(


)


,,


xyxy


®-




A reflection in the y-axis means that every ‘x’ coordinate changes sign.


2. For each of the following equations, draw


a.  

[image: image9.wmf]()


yfx


=










[image: image10.wmf]()2


fxx


=+




b.  

[image: image11.wmf]()


yfx


=-




c. State the equation of the new


function.


d.  State the domain, range, and 


any asymptotes if they exist.












[image: image12.wmf]3


()1


fxx


=-








[image: image13.wmf]()2


fxx


=+




Given  

[image: image14.wmf](),


yfx


=


  in  

[image: image15.wmf](),


yfx


=-


    

[image: image16.wmf](


)


(


)


,,


xyxy


®-




A reflection in the x-axis means that every ‘x’ coordinate changes sign.
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1. Fill in the blanks with the appropriate word or phrase.  (1 mark each)

a.


[image: image26.wmf] will cause the graph of  

[image: image2.wmf]()


yfx


=


 to reflect in the _________


b. 


[image: image3.wmf]3


yx


=


 will cause the graph of  

[image: image4.wmf]()


yfx


=


 to be ____________________


c.
If  

[image: image5.wmf]()


fx


  and  

[image: image6.wmf]()


gx


 are reflections of each other in the line 

[image: image7.wmf]yx


=


 , they



are said to be ________________________.


d.


[image: image8.wmf]1


3


yx


æö


=


ç÷


èø


 will cause the graph of  

[image: image9.wmf]()


yfx


=


 to be __________________

e. 


[image: image10.wmf]()


yfx


=-


 will cause the graph of  

[image: image11.wmf]()


yfx


=


 to reflect in the _________


f.
When vertically stretching the graph, the values of  _______________



will remain invariant.


2. Describe how each of the following can be obtained from the graph of  

[image: image12.wmf](


)


yfx


=


 .
(2 marks each)

a.


[image: image13.wmf](


)


42


yfx


=+-




 EMBED Equation.DSMT4  [image: image14.wmf](4)2


yfx


=+-




b.


[image: image15.wmf](


)


24


yfx


=


 


c.


[image: image16.wmf]1


3


2


yfx


æö


=-+


ç÷


èø


 


d.


[image: image17.wmf](


)


5


261


3


yfx


=-+-


 


3. The graph of the function 

[image: image18.wmf]()


yfx


=


 is shown on the left.  If  

[image: image19.wmf]()


yfx


=


 is changed to  

[image: image20.wmf](


)


45


yfx


=-+


 ,  graph the transformed function on the grid provided.
(3 marks)

[image: image1.wmf]()


yfx


=-


[image: image21.png]





4. Kelly was asked to compare the graphs of   

[image: image22.wmf]yx


=


  and   

[image: image23.wmf]1


35


2


yx


=---


 .  As her answer, she gave the following statements.  State whether you agree or disagree with her answers and explain using the parameters a, b, c and d.

(3 marks)

The second graph has gone through a vertical stretch by a factor of  

[image: image24.wmf]1


2


.   


It has also been translated 3 units right and 5 units down.   


It has been reflected in the x-axis.  


5. Sketch the function 

[image: image25.wmf]()


fxx


=


  on the grid below.  In the following order,

a.  translate the function 4 units down


b.  reflect the function from ‘a’ in the


     x-axis.


c.  vertically stretch the the function


     from ‘b’ by a factor of 2.


d.  Write the equation of the function that 


     would describe the function from ‘c’.


e.  Would you get the same function if you did the transformations in the opposite order?
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